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Number of Questions to be attempted : 25

Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036657
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 4050369074 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let a function, ' f R — Rbe defined by

(1,ifx=0
v)=1+xx| and let sgn(x)={ ..
e gn(x) |-Lifx <0
Then :
Options :
40503632951 fis not invertible

s | |
10503632052 1 ) =sgmE —1)yjr -1

Ll 1 ]
L Iy 1
40503632053, 1 (X = I

~10.\ — T Ty
40503632054, 7 )= sgn@)yix -1

Question Number : 1 Question Id : 4050369074 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
@collegeduniae

Correct Marks : 4 Wrong Marks : 1



A ®ed f:R — R, f(x)=1+x[x| 5

1,3 x=0
Hﬁﬁﬂf‘ﬂﬁ%ﬁiﬂﬂmsnx=J i

gn(x) 1,9 x <0
2,

Options :

40503632951, J TS AINE T €
— | |
40503632952. [ (x) =sgn(x ~1)y

-1
o — ) " '1
40503632053, 1 () = i

1x)= ¥ =
a0s03632054, 1 )= EgnE)yr -1

Question Number : 2 Question Id : 4050369075 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let o be a common root of the equations,
x2—x—=12=0 and AxZ2+10x+3=0
(where A is an integer). If B is the other
root of the second equation, then the

ordered pair (A, B) is equal to:
Options :

40503632955. *

Qcollegedunlas
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40503632956.

40503632957. *

40503632958. * =4

Question Number : 2 Question Id : 4050369075 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HEAT  FHIEIOT  x2-x-12=0 d9I
h12+lﬂx+3=ﬂ[ﬁlﬁhﬂ$‘fﬂh%}$l@
IHATS e o T Al T THEI H GH
el B &, Tl S g (A, B) S ©
Options :

40503632955, -

%, : 3/’
40503632956.

40503632957. -

Qcollegedunm
eeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee m



3 ;
3=

40503632958. * 3)

Question Number : 3 Question Id : 4050369076 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If -z = -1+ ME, then which one of the
following is not true ?

Options :

Re(z?) + Re(z%)= -2

40503632959.

40503632960. Im(z4) + Im(?) = 5v2
40503632961. .[111{2“1‘1 — Re(z®) =442 -5
40503632962 Re(z*) - Im() = V2 - 7

Question Number : 3 Question Id : 4050369076 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

22 =-1+ 2 8 AFET AT WIS
T2
Options :

-~ B R
40503632959, ke(z) +Re(z7)=—2

@collegedunlae
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Im(z*) + Im(z*) =52

40503632960.
| N‘l — Re ”3 — ."; e

40503632061, ™(Z7) — Re(z7) =442 =5
gl (2 2Y — N

40503632962, ez )~ Im(z) J2

Question Number : 4 Question Id : 4050369077 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For Be(0, 7w/ 2), Be(, 27) and BeR, the value
of the determinant
|cos2a cos(a + 0) —sin(« + 0)
sInc sint cosh)
Bcoso cosf) sint
Options :
40503632963 is independent of a.

40503632964 is independent of 5.

40503632965. is independent of 6.

40503632966, depends on all «,  and 0.

Question Number : 4 Question Id : 4050369077 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 B



0e(0, 7/2), Oe(m, 2) T Be R = Tow ARfo=

lcos2a cos(a + 0) —sin(a + 0)

SIMx sint cost 1 °F
Bcoso cost sint
Options :

40503632963, @ 1 TTA T

40503632964. = &

40503632965, © 9 T B

T 0 T T [ Fa 1
40503632966, & P &

Question Number : 5 Question Id : 4050369078 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

G
Let A=|1 2 3| aeR and Bz[bj]'-]HX3
3 1 1)

such that AB=1l, r ¢ in R. If

by = %; and |adjB| =15, then |adj(AB)

equals :
Options :

412
40503632967.

Qcollegedunlas
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~12
40503632968. <

40503632969, 2°

48
40503632970.

Question Number : 5 Question Id : 4050369078 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
2 !
3

,ae RTAIB= ﬂ)ﬂ33KHE¥I

:1._;‘
I
—_— g =

& 1)

YFR ¥ fF AB=1l, r = 0 (reR)1 3Afg
by, = %r Al [adjB|=1> &, T |adj(AB)

T E
Options :
412
40503632967.

~12
40503632968. <

40503632969, 2°

48
40503632970.

Question Number : 6 Question Id : 4050369079 Question Type : MCQ Option Shuffling : Yes Display Question Number
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1
Let a,,a, a5 8, and a be in A.P. with the
common difference greater than 2. If
5
> a; =30 and a;-a,-ay-a -a;=3840, then
i=1]
a,'a; is equal to:
Options :
40503632971, 82

- 12
40503632972, 128
40503632973, 128
40503632974, — 82

Question Number : 6 Question Id : 4050369079 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
AMla,, a,, a, a, 991 a; TF 99 921 § 2
) T Sy . . | 5-
o aesFm 2 & Afaw 71 A Y a; =30
i=1
Options :
40503632971, 82

-12
40503632972. s
Qcollegedunim



40503632973, 128

40503632974, — 82

Question Number : 7 Question Id : 4050369080 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let the functions f and g be defined as
flx)=2cos|x — 2|+ 3|x| sinlx| and g(x) ="+ x.
If S be the set of points where the function
(fog)(x) is not differentiable, then S is equal
to:

Options :
40503632975, (1

40503632976. 0l

40503632977 -1}

40503632978, ¢ (an empty set)

Question Number : 7 Question Id : 4050369080 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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f(x) =2cos|x — 2| + 3|x| sin|x| T g(x) =2° + x.
s 37 fargali, T (fog)(x) Frerii 7 €,
FHTFI ST, WS TR T
Options :
40503632975, 11}

40503632976. )

40503632977. 0,1}

40503632978, ¢ (T TR TH=)

Question Number : 8 Question Id : 4050369081 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let f be a twice differentiable function on
R such that f(0)=4 and the function,

1
glx) = Efz{x] +3x% -5 is monotonically

increasing in R. Then f(1) cannot be :

Options :

40503632979, 23

32

40503632980.

40503632981, 4

Qcollegedunlas
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40503632082, 22

Question Number : 8 Question Id : 4050369081 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HAT R T UF e [ 3 91 S3aerid ¢, foads
faw  flop=4 & T  wHEA
g(x) = 5 fH(x) + 37~ 5, R Frea asfam 21
1 (1) T 21 Tk

Options :

40503632979, 23

32

40503632980.

40503632981, 4

40503632982, 2N2

Question Number : 9 Question Id : 4050369082 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let f(x)=(2x2—9x+ 11)e¥, — o< x < o,
Then fhas :

Options :

@collegedunlae
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1
a local maximaat x = E and a local

minima at x=2.

40503632983.
s 1
a local minima at x = E and a local
i ey
40503632084, Thaxima atx=_.
neither a local maxima nor a local
A
minima at X = =il
40503632985. -
neither a local maxima nor a local
minima at x=2.
40503632986.

Question Number : 9 Question Id : 4050369082 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
O f(x) =(2x2—9x+11)ef, — e<x< T

ﬁII_f?EI:
Options :
1 i
x = < UH WA IS e x=2
40503632083, P T FfTes 2

Qcollegedunlas
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g %@uﬁaﬁwﬁe%ﬁmpz

40503632084, P T 3FS )

» -
X=;"=IFIT¥-?IHT?TJEH%:{%TW

40503632085, [T

40503632086, TTITS 1

Question Number : 10 Question Id : 4050369083 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If forx>0,
C'\'Eﬁf_t‘l{g I *EW
I A= @)+ C

where C is a constant of integration, then
f(x) is equal to :

Options :

2
— cos\l";

40503632987. V2

22

— sINY/Xx
40503632988.

Qcollegedunm
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s
40503632989, V4 SINVX

40503632990, V2 cosvx

Question Number : 10 Question Id : 4050369083 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Afe x > 0 fou
, - e
g sin| i | JIW _
LT Jx - -
dx =ev"- fix) + C-
I = f(x)

STl C Ueh THIERTH 379 €, ol f(x) T T

Options :

3
'—_J cnsv";

40503632987. V2

.
N7 sinfx
40503632988.

40503632989, V2 SINVX

40503632990, V2 cosvx

Question Number : 11 Question Id : 4050369084 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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-

jf siny sf_nx.m

,, ———5—=4d0, then
The 14 cc}szv'ﬁ

.{E]. s
Hk.ijzsequ lo:

Options :
aw
—
40503632991 W2
. a0
12
40503632992.
i 13
40503632993, 6
w
40503632994, 3

Question Number : 11 Question Id : 4050369084 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
¥ sinx sinv0

afg y(xl=jj_ ————=d0 ¥, i
A 14 coszu'{ﬁ

™

! m :
H{I}amﬂ%:
2/
Options :
m
32

40503632991.

Qcollegedunm
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A

40503632992.

o4

40503632993.
T
"%

40503632994. -

Question Number : 12 Question Id : 4050369085 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks :

1

The area (in sq. units) of the region

{(x, y)eR? : 2x| +|y|=2 and x +y=1} is :

Options :

2| =

40503632995.

W N

40503632996.

P | =

40503632997.

Wl |

40503632998.

Question Number : 12 Question Id

: 4050369085 Question Type : MCQ Option Shuffling : Yes Display Question Numbei
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

&= {(x, YeR? : x|+ [y =2 A x +y=1} H

AR (31 STl H) ¢
Options :

| =

40503632995.

WK

40503632996.

I\J||—"

40503632997.

Wl |

40503632998.

Question Number : 13 Question Id : 4050369086 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let ABC be a triangle such that the vertex

A has coordinates (—3, 1). If the equation
of the median through B be 2Zx+y—3=0
and the equation of the bisector of angle C
be 7x —4y—1=0, then the equation of the
line BCis :
Options :

40503632999, 12X +y=>50

Qcollegedunm
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dx—y=7

40503633000.
40503633001, 1BX~Y=49

H__f1 B <
40503633002, X OY=0

Question Number : 13 Question Id : 4050369086 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

THT ABC Us Ty  foas oiid A & fdwis
(-3, 1) &1 Afg B | di=t 7 Wi =+
THIHI 2x+y—3=0F 41 v C &
TGS H THE 7x—-4y—1=0 T, ™
@1 BC 1 HHH €

Options :
40503632999, 12X Y=

40503633000, H V=7

40503633001, 10X "Y=49

40503633002, ‘X 3Y=6

Question Number : 14 Question Id : 4050369087 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Qcollegeduniaé



If the ellipse centered at the origin has a
focus at (0, 3) and the corresponding
directrix is y=09, then which one of the
following is not true for this ellipse ?
Options :

Leneth of its minor axis is
40503633003, B 672

Length of its latus rectum is .4\@
40503633004.

Point {w‘g , 24/3 ) Lies on it
40503633005. '

40503633006, L Cint (V6, ~3v2) lies on it

Question Number : 14 Question Id : 4050369087 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

7w <reigm, foas = qa fag W E, #
T A (0, 3) W E a4 Hd FEa y =9 %, @
= Eeg & fou = | | #E T u ge @
g7

Options :

THE oY I F TR |
40503633003, 7 13 632 ®

THFT IS S F =T 43 2
40503633004. 43

Qcollegedumas
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fag (V6, 243 ) 31 o faera 2

40503633005.

forg (6, ~3v2) 58 W feerm &1

40503633006.

Question Number : 15 Question Id : 4050369088 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If a hyperbola has length of its transverse

axis -:\.'E and it has the same focias thatof
the ellipse, 4x2 + 31,;3: 24, then this
hyperbola also passes through the point

whose coordinates are :

Options :

I3

(53

A

"\'.

40503633007.

(zﬁ, :

40503633008. *

|
- o

& -
=l
e _y

40503633009. [

¥

s J2)
o

&=

40503633010. * /

Qcollegedunlas
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Question Number : 15 Question Id : 4050369088 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Afe TF AfTHEed F 3T AR F TR
V2 % e s Al 9@ § S st
432 + 3y2 =24 F1 T, T g% Afawaey 34 fag
F off 2 o 2, Foes o= €
Options :

I3

6. 3)

40503633007.

(]
&
d | T
S, —

r

40503633008. *

—-—I—\_\\.

-
5

M, -

40503633009. *

L \E\'
=1

¥

&~

40503633010. *

Question Number : 16 Question Id : 4050369089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let P be the point of intersection of the

plane, 4x—6y+14z=57 with the line

joining the points A(2, 3, 5) and B(1, —1,4).

If BP=AAP, then the value of A is :
Options : g?!'eg?‘}”'}'?



WO | =

40503633011.

W

40503633012.

:_...;||_.|'

40503633013.

40503633014.

Question Number : 16 Question Id : 4050369089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A FHAA 4x — 6y + 14z=57 =1 fag3li
A(2,3,5) 9= B(1, —1, 4) =1 fqa =ret
Y wfawged fag PRI af@ BP=AAP, dT A
AT

Options :

WO | =

40503633011.

=]

40503633012.

:_...:-||_.|'

40503633013.

40503633014.

Qcollegedunm
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Question Number : 17 Question Id : 4050369090 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A six faced biased dice is so loaded that in
any of its toss getting any of even scores is
equally likely and the probability of getting
an even score is three times the probability
of getting an odd score. This dice is tossed
repeatedly until a six is obtained. If X
denotes the number of tosses required, then
PX<4)is:

Options :

19

?
40503633015, -

-

43
40503633016.

61

__1:5
40503633017.

' 397
{.12:'3

40503633018.

Question Number : 17 Question Id : 4050369090 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Qcollegedunm
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TF AT TIEeE U TH TER ¢ fF
o el I2m@ | fdt off ¥ d9=n =1
TN (equally likely) ¥ 721 39 T HH
HEA % A 1 WAl food e S
Wifasdl ¥ 99 T T TH U9 & 99 a%
IS S & STl oo feh b B <1 9T &l o4 |
IS, WMPX<4) T :

Options :

19

5
40503633015. -

40503633016.

4:5
40503633017.

397
(12)?

40503633018.

Question Number : 18 Question Id : 4050369091 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If 2sinx —cos2x=1, then :

Options :

s - _
40503633019, 98 ¥ T CO8 X = 3 - .5

Qcollegedunlas
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Xcosty —cosx)= —
40503633020, AWEX—cosx)=—1

o300 i
40503633021, SN X —sin"x = 2 J5

Nsinr — sinZy) =
40503633022, St ¥ —sin"x) =1

Question Number : 18 Question Id : 4050369091 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ife 2sinyr—cos2xr=1 % G L

Options :
4 + 3 -'g
40503633019, COS X T COSTX =3 — v
2 4. B -
40503633020, 2(C0s™x —cosx)= —1

DAL i
40503633021, SN X —sin"x = 2 J5

Nsintr — sinZy) =
40503633022, 2SI ¥ —sin"x) =1

Question Number : 19 Question Id : 4050369092 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

@collegedunlae
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-

- -
Let a, b, ¢ be any three non-coplanar

vectors. If the points
- —-— '_.—}\'
Al=2a +3b +5c |,
\ J

- e —}\' . e —
B[a +2b I3c|m1dC(?a hcw-arc-
\ J M, A
collinear, then X is equal o :

Options :
40503633023, 1

40503633024.

40503633025, 2

40503633026.

Question Number : 19 Question Id : 4050369092 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Qcollegedunm
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AT : E ¢ BT dF YA (non-
coplanar) #fewr afgs  fa=g

— - .
Al-2a +3b |5C1f
J

— - e . B Y _;\'
Bla +2b |3c%mc[?a hc|

LY A J

gl A FUE B
Options :
40503633023,

40503633024, 1
>

40503633025, 2
~2

40503633026

Question Number : 20 Question Id : 4050369093 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following is a tautology ?

Options :
; —2 q) = ¢
40503633027. (p D 1
— L —  ~(
40503633028. (p ) 1

Qcollegedunm
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40503633020, ~ P 7 D <P

40503633030, P T D 7P

Question Number : 20 Question Id : 4050369093 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

et H S | U el 2
Options :

~ — (q) =
40503633027, P 7V~ d

~(p—q < ~q

40503633028.
—

40503633020, P 7 A <P

- —
40503633030, P 7 D 7P
Sub-Section Number : 2
Sub-Section Id : 405036658
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 4050369094 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If the sum of all possible 4 digit numbers
formed using digits 1, 2, 3, 4 without

repetition, is 1111k, then k is equal to

Qcollegedunlaé
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

51t05.002

Question Number : 21 Question Id : 4050369094 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Afg #AHI 1, 2, 3, 4 F1 TAF FHLH, 3AHI Hl a0

SrEUy, IS T 9 HYE 4 S Tl e

1 AATRA 1111k €, 1 k SR E |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 22 Question Id : 4050369095 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If x=cosech —sin® and y =cosec’d —sin’0,

dl,r

z'

<< ?r then {_TL | —1:| l 25[}2

isequalto

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
collegedunla



Answers Type : Range
Text Areas : PlainText
Possible Answers :

5to0 5.002

Question Number : 22 Question Id : 4050369095 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

IfE x =cosech — sind Ty =cosec®® —sin’6,
y

2

ﬂﬂ[}{%%"rﬁf_le—lﬁl 25y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 23 Question Id : 4050369096 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Let the functinn f:N =R qati’-}h—'

I,F{,1+Jr x)fly)forall x,ye Nand f(1) =
If El f(A+K) =22"-1), then A +B is
equal to o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

gcollegedunla
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Answers Type : Range
Text Areas : PlainText
Possible Answers :

5to0 5.002

Question Number : 23 Question Id : 4050369096 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0
A e f:N — R, 34 x,y e N & fou
fla+ y) =) fly) P T FAETAf(1) =2
21 =fe LE fA+k)=M2°-1) & G n+p
(=1
TEE |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.002

Question Number : 24 Question Id : 4050369097 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Let the circle, (x—a)*+ (y —b)>=8 and the
parabola, yzz-h' have a common tangent
at the point P(1, 2). If C is the centre of the
circle and S is the focus of the parabola, then
the area (in sq. units) of ACPS is equal to

Response Type : Numeric

Qcollegedunm
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 24 Question Id : 4050369097 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A 949, (x—a)?+ (y—b)2=8 T4 Wacd

y2=4x H1 fag P(1, 2) W U= Ivafe= =99

@ ¥ AfE 99 . FR C T a9 Waed Hi

TS T, @ ACPS 1 &TFe (1 sahmedl §)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 25 Question Id : 4050369098 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If y=y(x) is a solution of the differential

equation, x% =2 -3xy), x > 0 with

Response Type : Numeric :
P P collegedunias

R
y(1)=1, then y1 1 | is equal to
\ES



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 25 Question Id : 4050369098 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

TfE FATFHE IHE xj—y = (2 —3xy), x>0
™

=

oo fam y(1)=1% &1 3@ y=y(x) & @

.fl'-\.

ij W T |

&

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Aptitude Test
405036327
2
Online
Mandatory
50
50
200

gcollegedunlae
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Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036659
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 4050369099 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The3-D figure shows the view of an f}bjc-ct. Idc-nfif}-' the correct top view from amongst the
answer figures.

40503633036.

40503633037.

40503633038.
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40503633039.

Question Number : 26 Question Id : 4050369099 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

3 - D W AHa # UF 9% F U 5¥9 I fG@m T ¥ SHE Tel S 999, ST SAhadl 3 o

Options :

40503633036.

40503633037.

40503633038.

40503633039. Qcollegeduniae



Question Number : 27 Question Id : 4050369100 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.

Options :

40503633040.

40503633041.

40503633042.

40503633043.

Question Number : 27 Question Id : 4050369100 Question Type : MCQ Option Shuffling : Yes Display Question Numbe1
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

3-D UH AE H % 35 F U g FI fG@ T ¥ T e S g, I S § 4
T |

.
-
Iy
= .,
- %
e il "
e I ’
S S

s
.
.-"-..-')l
-
-

e N
I(.""'- . -~
e -
e S, LA
., -

o L

Options :

40503633040.

40503633041.

40503633042.

40503633043.

Question Number : 28 Question Id : 4050369101 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.

Options :

40503633044,

40503633045.

40503633046. |

40503633047. |

Question Number : 28 Question Id : 4050369101 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Qcollegedunlaé
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Options :

40503633044,

40503633045.

40503633046.

40503633047.

Question Number : 29 Question Id : 4050369102 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.

<>
I
Options :

_L_

40503633048.

’_L_

40503633049.

_L_

40503633050.

’_L_

40503633051.

Question Number : 29 Question Id : 4050369102 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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40503633048.

40503633049.

40503633050.

’_L_

40503633051.

Question Number : 30 Question Id : 4050369103 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The3-Df igure shows the view of an nhjr:-ct. Idr_-ntif}-' the correct top view from amongst the
answer figures.

T
E.. -
rd '-.L
- -
Ry LN
[« >
- -
e
-~ r T
. o~ -~
e " - >
L et -:]:"-' -~
. . - -~
. -~
- e -

.-H'. e o - S

1

B o
|

Options :

40503633052. l .
1
40503633053.
]
40503633054.
I
40503633055.

Question Number : 30 Question Id : 4050369103 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503633052.

40503633053.

40503633054.

40503633055.

Question Number : 31 Question Id : 4050369104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options :

40503633056.

40503633058.

—
40503633057. E_ll—

—n

—h

40503633059. |

Question Number : 31 Question Id : 4050369104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Qcollegedunlas
eeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee m



3 - D WY A § UF 95 F U 999 H1 Temmn T g1 9 feen ¥ 2 g, e e 9
IR SATHfoEl | | TE= |

40503633056.

40503633057,
— 1T

40503633058, ———
—n

40503633059, -

Question Number : 32 Question Id : 4050369105 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options :

40503633060. |

40503633061.

1
]
40503633062. |

40503633063.

Question Number : 32 Question Id : 4050369105 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Qcollegedunm
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Options :

40503633060. |

40503633061.

—
]
40503633062, |

40503633063.

Question Number : 33 Question Id : 4050369106 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

-~
"

e
e
- e
-
Sy

E ™ - =
- r o -
] o

Cg i f_)]
Lo
. e, - .
= S
o -
|
—
-~
P
.-"-'.

Options :

40503633064.

40503633065.

40503633066.

o

40503633067.

Question Number : 33 Question Id : 4050369106 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503633064.

40503633065.

40503633066.

o

40503633067.

Question Number : 34 Question Id : 4050369107 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

40503633068.

u

B

40503633069. :

40503633070.

E=

40503633071.

Question Number : 34 Question Id : 4050369107 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503633068.

u

B

40503633069. :

40503633070.

E=

40503633071.

Question Number : 35 Question Id : 4050369108 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options :

40503633072.

40503633073.

40503633074.

40503633075.

Question Number : 35 Question Id : 4050369108 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Qcollegedunm
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Options :

40503633072. %

40503633073, %
40503633074
40503633075, !

Question Number : 36 Question Id : 4050369109 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options :

]

40503633076, ———

]

[
40503633077, —

=] |

|
40503633078, ———

=l

40503633079,

Question Number : 36 Question Id : 4050369109 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Qcollegedunm
eeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee m



3 - D W9 SATHTT H U 9] 6 UF 399 &1 fa@m T ) i # fewn § 3 e, s9E 9 99 &6
I AHGE H H TR |

Options :

A]

40503633076, ———

]

[
40503633077. L—

] ]

[
40503633078, ——

=

40503633079,

Question Number : 37 Question Id : 4050369110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options :
40503633080, |

N
40503633081, |

|
40503633082, |

40503633083. Dé

Question Number : 37 Question Id : 4050369110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Qcollegedunm
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40503633080, |

N
40503633081, |

|
40503633082, |

40503633083. Dé

Question Number : 38 Question Id : 4050369111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

/

Options :

40503633084. g

_ []

40503633085. |

40503633086. £
40503633087. g

Question Number : 38 Question Id : 4050369111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Options :

40503633084.

40503633085.

40503633086.

]
I
40503633087. g

Question Number : 39 Question Id : 4050369112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

40503633088, é

’_I:

40503633089, —

o
|
40503633090, L—

IJ:

40503633091, |

Question Number : 39 Question Id : 4050369112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

|_|:

40503633088, ——

’_I:

40503633089, L—

e
[
40503633090, H—

IJ:

40503633091, |

Question Number : 40 Question Id : 4050369113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

g
< “T
T .
- .-':‘
-

P

Options :

40503633092. é

Al

40503633093, ———

| []

40503633094, ———
40503633095. Eé

Question Number : 40 Question Id : 4050369113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503633092. é

Al

40503633093, ———

| []

40503633094, ———
40503633095, Eé

Question Number : 41 Question Id : 4050369114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X?

8

Options :

40503633096.

40503633097.

40503633098.

P O 1 o

40503633099.

Question Number : 41 Question Id : 4050369114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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£

Options :

X

40503633096.

40503633097.

40503633098.

P s 1 o

40503633099.

Question Number : 42 Question Id : 4050369115 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the answer figures is the correct mirror image of the problem figure with respect

toX -=X?
'
£ A
-~
X
Options :
..:I_-_:_;;I. \ |
| "~
40503633100, —==
N |
40503633101, ——

ro A
|III l.---. -
40503633102, —I=
M :"‘j;;
| [=—H
40503633103, —x=

Question Number : 42 Question Id : 4050369115 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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eeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee m



IH AFTE § F FE G ST S T A9 S X - X W g T i giataw 22

X
sl
X
Options :
=2
g
40503633100, —==
Rf|
40503633101, ——

-
.\\ \\
|III l.---. -

40503633102, —==2
RS
[

40503633103, —x=

Question Number : 43 Question Id : 4050369116 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the answer figures is the correct mirror image of the problem figure with respect

toX =X ?
X
X7
X
Options :
R =
Ly
40503633104, ——
e
r ::'
40503633105, 1
i'{ 1:_-'1
40503633106. i
40503633107.

Question Number : 43 Question Id : 4050369116 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Qcollegeduni&

Correct Marks : 4 Wrong Marks : 1



IW (A F F HA T AT T W i w X - X g g8 g gfafa g2

X
e
g 4
it =
X
Options :
s
VA
40503633104, ———

40503633105, 1

40503633106.

40503633107.

Question Number : 44 Question Id : 4050369117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the answer [ igures is the correct mirror image of the pmhlc-m figure with respect

toX=-X7?
X
\,av"-{/
ol |{’
Vs
X

Options :

40503633108. =

40503633109, £~

XN
b W e
40503633110, =
-\t‘-\-:L\_‘H\:
NN
40503633111, £/ 7

Question Number : 44 Question Id : 4050369117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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X

Options :

40503633108. =

40503633109, =—=

40503633110, &

,,
S,

40503633111.

Question Number : 45 Question Id : 4050369118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Qcollegedunm
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Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X7?

J_l I

X
Options :

1l

40503633112. '
il
1L

40503633113, '
gl
_||_

40503633114 '
L
=

40503633115. !

Question Number : 45 Question Id : 4050369118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

@collegedunlae
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X
J |
i
X
Options :
1
40503633112. '
il
1L
40503633113. '
Hl
_||_
40503633114. !
3
L
40503633115,

Question Number : 46 Question Id : 4050369119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Find the odd [ igure out of the pmblem figurc-s given below.

gcollegedunlae
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Options :

40503633116.

40503633117.

40503633118.

40503633119.

Question Number : 46 Question Id : 4050369119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
== &1 T 9 SRl | 9 faum sefa seenty |
Options :

40503633116.

@collegedunlae
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40503633117.

40503633118.

40503633119.

Question Number : 47 Question Id : 4050369120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Find the odd figure out of the problem figures given below.

Options :

40503633120.

40503633121.

@collegedunlae
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o

40503633122.

40503633123.

Question Number : 47 Question Id : 4050369120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
= 21 T g SAFfaE § § faus s TeEy |
Options :

40503633120.

40503633121.

S

40503633122.

gcollegedunlae
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40503633123.

Question Number : 48 Question Id : 4050369121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Find the odd figurc- out of the pmblem figurc-s given below.

Options :

40503633124.

40503633125.

40503633126.

40503633127.

L]

@collegedunlae
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Question Number : 48 Question Id : 4050369121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

= <1 T 9 AfoEl | | A eea se=nte |

Options :

[ ]
40503633124.
40503633125.
40503633126.

( ]

e o
40503633127.

Question Number : 49 Question Id : 4050369122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Find the odd figurc- out of the pmblc-m t’igurr_-s given below.

@collegedunlae
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Options :

40503633128.

+—+
40503633129.
40503633130.
40503633131.

Question Number : 49 Question Id : 4050369122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
= &1 T weR ol § 4 faam st vemt |
Options :

it

40503633128.

@collegedunlae
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40503633129.

40503633130.

40503633131.

_'-I_H_A_

Question Number : 50 Question Id : 4050369123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Find the odd figurr_- out of the prnhlc-m figurr_-s given below.

Options :

40503633132.

40503633133.

gcollegedunlae
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40503633134.

40503633135.

Question Number : 50 Question Id : 4050369123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

== <t T 9 sRfadl § O faun svefa geEy

Options :

40503633132.

40503633133.

40503633134.

Qcollegedunlaé
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40503633135.

Question Number : 51 Question Id : 4050369124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

,‘[\_

Options :

40503633136.

40503633137.

40503633138.

Al

T

mililll

Qcollegedunlaé
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40503633139. [ ’_H

Question Number : 51 Question Id : 4050369124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

WY S H A F FH v fommn mn g1 9w e d T gu s Aol 4 9 9e wHa
99 TR |

=

Options :

Al

40503633137. mm’i

40503633136.

40503633138. L] ’_H
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40503633139. [ ’_H

Question Number : 52 Question Id : 4050369125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

P,
) ]
i f
=
[
|

Options :

40503633140 rﬂ
40503633141, Hﬂ
40503633142 m
40503633143, m

gcollegedunlae
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Question Number : 52 Question Id : 4050369125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
WY SR | S w1 S gy e e ¥ | 9w o | < g I Sefadl § ° 9E 2eg
T eI |

g —

Py
)

Options :

40503633140. m
40503633141. m
40503633142. m
40503633143. m

Question Number : 53 Question Id : 4050369126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
@collegeduniae

Correct Marks : 4 Wrong Marks : 1



The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

o
1r
o

,T

Options :

40503633144 [
40503633145, [
40503633 146. []

|
40503633147, []

Question Number : 53 Question Id : 4050369126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunlae
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Options :
40503633144, [
40503633145. ]
40503633146. [

|
40503633147. [

Question Number : 54 Question Id : 4050369127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

T

Sle
/[x

Options :

40503633148.

40503633149.

— = =4

40503633150.

40503633151.

Question Number : 54 Question Id : 4050369127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
@collegedunlae
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Options :

40503633148.

40503633149.

40503633150. |

40503633151

Question Number : 55 Question Id : 4050369128 Question Type : MCQ Option Shuffling : Yes Display Question Number * Vo< T<
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
gcollegeduniae



Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

Options :

40503633152. 'F-‘

40503633153. ”EL'P‘
i

40503633154.

e
]

40503633155.

Question Number : 55 Question Id : 4050369128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Qcollegedunlaé
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Options :

40503633152. ”I‘I__LIH
40503633153. HEL'P‘
40503633154. Hn__l_'—[l-‘—_l]w
40503633155. Hl‘l__l‘l—fl‘:l‘

Question Number : 56 Question Id : 4050369129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figure will complete the sequence of the three problem figures ?

..-f"-- i s I -.-")\
q- zf.}': I."\:\ i '.I { : :“L-’ :.—' |
= | ! % § g

b4 . e L ~

Options :

Qcollegedunm
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40503633156, L

]

40503633158, />

s
a%/h
AN

40503633159, >/

Question Number : 56 Question Id : 4050369129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

I SATFHE J H FA H SAFHT F A G AF A H§ e H ST (sequence) T 2 S ?

— ¥ Ll
- T
; . ks B

Options :

Wow,
40503633156,

]

40503633158, L >

Qcollegedunm
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N
40503633159, L

Question Number : 57 Question Id : 4050369130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one ol the answer figuro will cnmpletr_- the sequence of the three prf}blc-m figurr_-s ?

._.}}

Options :

40503633160.

40503633161, v

40503633162,

40503633163.

Question Number : 57 Question Id : 4050369130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunlae
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I SAHTE | H HA H AHT F AT G SAF A | e TR (sequence) T N S 2

Options :

40503633160.

40503633161, V'

40503633162,

40503633163.

Question Number : 58 Question Id : 4050369131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figu re will cmnplc-te the sequence of the three pmhlc-m figurc-s ?

gd Sy Ul ?

Options :

Qcollegedunm
eeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee m



X

40503633164, —

L]

40503633165,

40503633166. @
40503633167. @

Question Number : 58 Question Id : 4050369131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

I SAFHaAl § H HH W AH H T G AF G H oH F SFIHH (sequence) T S ?

vl By [l ?

Options :
S

40503633164, ——

L]

40503633165,

Qcollegedunm
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40503633166. @
40503633167. @

Question Number : 59 Question Id : 4050369132 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figu re will complete the sequence of the three prohlem figurc-s 7

e R
e Vi

Options :
;":.--':'
B i

40503633168. \
40503633169, -
40503633170,

o —
_— /
e o
v A1 L

40503633171.

Qcollegedunm
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Question Number : 59 Question Id : 4050369132 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T AFHE H I w1 ST 1 91 9 AFE] | o H ST (sequence) T 2 S 2
'i"--.l A 1\\ :
; 2 / {L\\jﬁ\”__,/ -
Options :
77,

40503633168. %

.'I'.

[ A
40503633169,

v

SRR
40503633170. ~ —

=g

- Bl

T —
o
A
Y | L |

40503633171.

Question Number : 60 Question Id : 4050369133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figure will complete the sequence of the three problem figures ?

Options : .
P collegedunias



40503633172.

40503633173. —

40503633174, —

40503633175.

Question Number : 60 Question Id : 4050369133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

I ATFHTE H H FF = AFHT F A T AFHE H e H FIFA (sequence) T 2 S 2

7 ™
"\“ - :: \'}.- '{ :"
.II II.---' ‘l"'\--._ " - I x_‘-_ -..____,-.:"' .
Options :
=1
-

40503633172.

Qcollegedunm
eeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee m



40503633173,
40503633174,

40503633175.

Question Number : 61 Question Id : 4050369134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

10 Downing Street is the residence of which
one of the following ?

Options :

40503633176, L resident of America

40503633177 Prime Minister of England

40503633178, L resident of France

40503633179. President of Sri Lanka

Question Number : 61 Question Id : 4050369134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 Qcollege .



10 23T 2re frafatas § & fFa f

3?
Options :
40503633176, ST & WA

40503633177, ST o FHH FaAl

40503633178, 14 = WecAId

40503633179, Alcil & T2t

Question Number : 62 Question Id : 4050369135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In the Northern Hemisphere the winter sun
sets in which one of the following
directions ?

Options :

40503633180, TNorth East

40503633181, [North West

40503633182, South East

40503633183, outh West

Question Number : 62 Question Id : 4050369135 Question Type : MCQ Option Shuffling : Yes Display Question Number gcollege T



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

ST Mend | Afedl # 94 FEfataa 5§ 9
g faan © 25 272
Options :

40503633180, S0% 1A

40503633181, S0o¢ AR

40503633182, ~aon 4

40503633183, a0l qI¥=H

Question Number : 63 Question Id : 4050369136 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The famous Badrinath temple is located in
which one of the following States ?

Options :
40503633184, Kerala

40503633185, amil Nadu

40503633186, £1ssam

40503633187, Uttarakhand

Qcollegedunm
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Question Number : 63 Question Id : 4050369136 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
s sy Hiet fr=fatad § 4 fHg =g ¥
feor g7

Options :

40503633184, T

40503633185. e

40503633186, T4

40503633187, STUEE

Question Number : 64 Question Id : 4050369137 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What is the thickness of a one brick thick
wall ?

Options :

40503633188, +2

40503633189. ¥”

40503633190, 13-

40503633191, 12

@collegedunlae
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Question Number : 64 Question Id : 4050369137 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T 52 HEl SR FT W R g € 2
Options :

40503633188. 45

40503633189, 9"

40503633190, 13-

40503633191, 127

Question Number : 65 Question Id : 4050369138 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Why is the depth of a beam normally more
than its width ?

Options :

40503633192, Horizontal Force

40503633193, Momentum

40503633194, Moment of Inertia

40503633195, Balance

Question Number : 65 Question Id : 4050369138 Question Type : MCQ Option Shuffling : Yes Display Question Number @ collegedunia:



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

T =9 FT TETE 9EE B Y THE 928 9

sAferer =l 32
Options :
&t =

40503633192.

40503633193. =

40503633194, e ST® TR

40503633195, 18

Question Number : 66 Question Id : 4050369139 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Where is the famous Nolre Dame Cathedral
which caught fire recently located ?

Options :
40503633196, Laris

40503633197, r1ague

40503633198, venice

40503633199, Rome

Qcollegedunlaé
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Question Number : 66 Question Id : 4050369139 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

g e =49 HiTa wal ¢ fawd o o i
A Tl o6 ?

Options :

40503633196. ifed

\

40503633197, ©1

40503633198. e

-

40503633199, 1

Question Number : 67 Question Id : 4050369140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The concept of CharBagh garden found in
which one of the following garden

concepts ?
Options :
40503633200, Christian

40503633201, Chinese

40503633202, 1slamic

40503633203, Zen
@collegeduniae



Question Number : 67 Question Id : 4050369140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

=T I = SR FEAfated § 9 f55
H urd ST 27

Options :

[ r

40503633200, T %

[als

40503633201.

40503633202, =0

40503633203, 1

Question Number : 68 Question Id : 4050369141 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Where is the Bara Imambara located ?

Options :

40503633204, Kolkata

40503633205. Mumbai

40503633206, 1yderabad

40503633207, Lucknow

gcollegedunlae
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Question Number : 68 Question Id : 4050369141 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TR SHHETS frfetaa § 9§ % e g2
Options :

40503633204.

40503633205. T2

40503633206. e

40503633207, T

Question Number : 69 Question Id : 4050369142 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the colors reflects the
maximum light ?

Options :
40503633208, Red

40503633209, Green
40503633210, YVhite
40503633211, Black

gcollegedunlae
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Question Number : 69 Question Id : 4050369142 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
FH |1 1 Al T 9 7 7
Options :

40503633208.

40503633209, &

40503633210. "

40503633211. 1

Question Number : 70 Question Id : 4050369143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following colors denotes
equality ?

Options :

40503633212, VVhite

40503633213, Drue

40503633214, ndigo

40503633215, Red

gcollegedunlae
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Question Number : 70 Question Id : 4050369143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

=1 | & #1911 gEE # g9 § 2
Options :

40503633212, TS

iy

40503633213, TN

T et

40503633214.

40503633215, el

Question Number : 71 Question Id : 4050369144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following describes the
texture of a hand made brick ?

Options :
40503633216, Smooth

40503633217, Slossy

40503633218, Rough

40503633219, Uky

gcollegedunlae
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Question Number : 71 Question Id : 4050369144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

= § | FF-T wF 7Y F T €2 A
1 U FAAE 7

Options :

40503633216, M1

40503633217, TSR
40503633218. !

40503633219, X

Question Number : 72 Question Id : 4050369145 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
What are shafts used for in buildings ?

Options :
40503633220, Beauty

40503633221, LGI‘ICC‘HIII‘Ig pipes

40503633222. Structural streng th

40503633223, >tability

gcollegedunlae
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Question Number : 72 Question Id : 4050369145 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ARGl # e former o SwEm e s R 2
Options :
40503633220, 3

-

40503633221, ed EHH & TQ

40503633222, HCATICHS aifeR

40503633223.

Question Number : 73 Question Id : 4050369146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is the most

suitable material for toilet floors ?
Options :
40503633224, Polished granite

40503633225, [Non skid tiles

40503633226, Wood

40503633227, —Arpet
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Question Number : 73 Question Id : 4050369146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 74 Question Id : 4050369147 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Who amongst the fnllnwf_ng designod

Indian Institute of h-Ianagc-mc-nt 7

Options :

40503633228

40503633229

40503633230

40503633231

Charles Correa
B.V. Doshi

~ Louis Kahn

. A P. Kanvinde
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Question Number : 74 Question Id : 4050369147 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503633228, N I

40503633229, LA <

40503633230, B0 FIE

40503633231, & AR

Question Number : 75 Question Id : 4050369148 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Who amongst the following designed The
Falling Waters ?

Options :

40503633232, Frank Ghery

40503633233, Zaha Hadid

40503633234, Norman Foster
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40503633235, Frank LI(}}-‘d W right

Question Number : 75 Question Id : 4050369148 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :
40503633232, T X

40503633233, el gals

40503633234. =

40503633235, PP S Tee

Drawing
Section Id : 405036328
Section Number : 3
Section type : Offline
Mandatory or Optional : Mandatory
Number of Questions : 2
Number of Questions to be attempted : 2
Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
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Sub-Section Number : 1
Sub-Section Id : 405036660
Question Shuffling Allowed : No

Question Number : 76 Question Id : 4050369149 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 50

In the space provided for the answer of this
question, draw an aesthetic composition
appropriate to this space using only
rectangles. There is no restriction to
numbers, sizes, placement and directions
of these shapes. Color this composition so

that it becomes visually exciting.

Question Number : 76 Question Id : 4050369149 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 50
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Question Number : 77 Question Id : 4050369150 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 50
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Draw from imagmatinn a l‘nigl‘mfeqi,=r on
which cars and trucks are moving in both

direcions.
OR

Draw from imagination an interior of

cinema hall.
OR

Draw from memory your best teachers face.

Question Number : 77 Question Id : 4050369150 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 50
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